[ Efficiency vs vertpos |
0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

Ja)

VS

0.954

1072

107 1

10 10?

[ fake+duplicates vs vertr

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.95

1072 107

10 10?

—=— DQM_TT__mkFit-DQM_original

Efficiend —— pom_TT_ mkFit-DQM_modified2

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
Vel

....................

.....................

..................

..............

..................

[y

'E

0.95}

=30 -20 -10 0

[ Efficiency vs. sim PV z |
0.05

L S e

0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

...........................

=
T
i
+

0.8

0.7

0.6

0.5

0.4

TTT T[T I T T[T T T T TT LT ITTT

©
w
]

+ ________ i b +

T, F s
v SN D S

0

[ fake+duplicates vs Sim. PV z |

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02
0.0

=
I
i
+




	Contents
	Page 1


